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QUESTION 1

The Mann-Whitney test is a powerful test and is unique to situations from which of the choices listed? (Note: There are 2
correct answers). 

A. Testing the identity of two populations 

B. Focuses on equality of the Median of the two populations 

C. Less powerful than the traditional "t-test" 

D. More widely applicable than the traditional "t-test" 

Correct Answer: BD 

 

 

QUESTION 2

An operator checks that all boxes being packed contain enough products to fill the box. However, each box getting filled
has a different number of products in it. This is a Reproducibility problem, not a Repeatability problem. 

A. True 

B. False 

Correct Answer: B 

 

 

QUESTION 3

SPC Charts are used extensively in different business and decision-making environments. In this example a vendor is
being selected based on speed of delivery. Which of the conclusions would help you pick a vendor for your needs
regarding lead-time of delivery from your vendors? (Note: There are 4 correct answers). 
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A. Vendor A with a much shorter lead time in delivery 

B. Vendor B as it has a better consistency (lower variance) on lead time 

C. Vendor B as Vendor A shows a situation out of control as shown in red 

D. Vendor B as the Control Limits are much narrower than Vendor A 

E. Vendor B with higher lead time, but a process with much narrower Control Limits 

Correct Answer: BCDE 

 

 

QUESTION 4

Sally and Sara sell flower pots at their garage sale. Sally motivates Sara mentioning that they will sell a minimum of 15
pots per day if the outside temperature exceeds 60o F. From a sample, whose population is assumed to follow a Normal
Distribution, taken for 30 days at 60 degrees or more an average of 13.6 pots per day were sold with a Standard
Deviation of 0.7 pots. The statistical Degrees of Freedom for this example are? 

A. 1 

B. 29 
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C. 30 

D. 31 

E. 2 

Correct Answer: B 

 

 

QUESTION 5

Which of the following is used to model lifetimes of certain elements? 

A. Exponential distribution 

B. Normal distribution 

C. Poisson distribution 

D. Weibull distribution 

Correct Answer: A 
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